Dynamics & Stability
AE3-914




Radius of gyration k

Aeroplane took off
with speed v

Torque M ?




P Kinematics of spinning body when
\ direction of spin axis changes

W1 =w2=0

A W3 = P
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Lagrangian dynamics




Euler angles
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Kinetic energy (rotation)
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Gyrodynamics
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Steady precession
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There is an error in equation (4.38)
and on top of page 223 of the textbook
corresponding to this course.
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» Steady precession for 6 = 90° ?
Steady precession for 6 = 60° ?
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This slide corresponds to a sample problem that can
be found in the assignments section of this course




